
  MOUNTING INSTRUCTIONS 

1 3

   DESCRIPTIONID. QTY.

 WINDSHIELD ADAPTABLE TO 
     BMW K1300 R  ‘09 - Ref.: 4940

Screen

Right metal support A

Left metal support A

M6 well nut (supplied alredy mounted on the piece nº2-3-4-5)

M6x20 ISO 7991 allen screw

Ø20 plastic washer 

M5x16 ISO 7380 Allen screw

Special M5 nut

Right metal support B

1

1

1

1

6

6

2

2

1

1

2

4

5

6

7

8

9

10

3

Left metal support B

6

Original screws

Pantalla original 

1

7
8

Original screws
Original screws

Original screws

2

39

6

4

6

6

9

10

6

5

2

Puig puts everything within reach. Check out the collection of motorcycle windshields & fairings we offer.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html



